

5/27 微分方程式.

14) $y' - \frac{y}{x} = x^2 y^4$ は 1 階の非線形方程式に由来.

$$y^{-4} y^{-4} y' - \frac{1}{x} y^{-3} = x^2$$

$$\therefore (y^{-3})' = -3y^{-4} y'$$

$$-3y^{-4} y' + \frac{3}{x} y^{-3} = -3x^2 \quad \times 33z,$$

$$(y^{-3})' + \frac{3}{x} (y^{-3}) = -3x^2$$

$$z = y^{-3} \quad \text{とおくと} \quad \underline{z' + \frac{3}{x} z = -3x^2}$$

15) $y' = -y \cos x + y^2 - \sin x$

(1) $p(x) = \cos x, q(x) = 1, r(x) = -\sin x$.

(2) $y_1 = a \cos x$ とおいて 同解 [仮定].

$$\text{代入すると } (a \cos x)' = -(a \cos x) \cos x + \cos^2 x - \sin x$$

$$\therefore -a \sin x = (1-a) \cos^2 x - \sin x \quad \Rightarrow a=1 \quad (\text{または } 1=0)$$

$$\therefore y_1 = \cos x \quad \text{は 同解} \quad \square$$

(3) $\lambda = \mu = -1$ 型 1- による.

$$y' = -y \cos x + y^2 - \sin x$$

$$\underline{y_1' = -y_1 \cos x + y_1^2 - \sin x}$$

$$(y - y_1)' = -(y - y_1) \cos x + \underbrace{(y^2 - y_1^2)}_{(y - y_1)(y + y_1)} = (y - y_1) (y - y_1 + 2y_1)$$

$$y - y_1 = z \quad \text{とおくと,}$$

$$z' = -z \cos x + z(z + 2y_1) = \cos x$$

$$\underline{\underline{z' - z \cos x = z^2}}$$